ITEM	DESCRIPTION	QNTY	UNIT	RATE	AMOUNT
	ELEMENT NO. 03 Doors, windows				
	windows				DLAON DANS
	1.0 Windows				
				not.	
	Supply and fix the following mild steel casement				
	windows, comprising of 40mmx25mmx 2mm thick steel tube	mabin b	ari beilai	all none for	ncibild an inidia
	framing ,25mmx25mmx2mm thick steel tubes,intermediate				produke beenes had
	members, 25mmx2mm thick flat bars, complete with inbuilt				
	permanent vents, including all accessories, as fasteners, and stays, including anti-rust paint to approval:				
	stays, metuting anti-rust paint to approval:				
A	Window overall size 1500mm wide x 1200mm high fixed to detail	6	NO	10,500	63,000.00
В	Ditto but size 1200mm x1200mm high	4	NO.	10,500	42,000.00
				10,000	-
C	Glazing		liviors.		-
C	4mm thick clear sheet glass fixed to metal in panes with putty.				ngvistor or Jule
	with putty.	20	SM	850	17,000.00
	Painting			1000	in hardens a neg
	Prepare and apply three coats of gloss paint or other equal and				
	approved to:-				Brothada Sana asau
D	General surfaces of windows				-
D	General surfaces of windows	40	SM	250	10,000.00
	Doors				-
					in bill
	Mild steel Door				
	45mm thick mild steel door size 900 x 2400mm high comprising				
E	30x30x2mm RHS framework infilled with 3mm thick metal plate	2	NO	12,000	24,000.00
	complete with 50mm x 50mm mild steel angled section frame		110	12,000	24,000.00
	complete with steel hinges, fixing accessories and locks.				
	<u>Painting</u>				_
F	88985				-
	Prepare and apply three coats of gloss paint or other equal and			,	
	approved to:-				
	General surfaces of Doors	10	SM	250	2.500.00
	General surfaces of Doors COVI. OF WARDEN COVI. OF WARDEN	10	SIVI	250	2,500.00
	COVI. OF WAY				
	Co. com				
		also			
	Total for Windows and Doors Comind & C	` الحد			
	Total for Windows and Doors Carried to Summa	ry			158,500.00

ITEM	DESCRIPTION	QNTY	UNIT	RATE	AMOUNT
	ELEMENT NO.4 FINISHES		- 10	listo see	FEELON YESTE
	<u>Floor finishes.</u> <u>Cement and sand Backing.</u>				garata Ca
A	32mm thick c/s backing to floor finished hard and smooth with cloured screed with steel float.	157	SM	300	47,100.00
	Ceramic tiles as 'SAJ CERAMIC' or other equal and approved bedded and jointed in cement and sand (1:3) mortar and flush pointed with white cement			el dama Ligeradia Ligeradia Ligeradia	esecuto S. al. 40 est attent impatio atten politicata
В	300×300×8mm tiles	157	SM	1,400	219,800.00
	Wall finishes.		4.0	Anathire.Ex	winded brook Europe
В	External and Internal 15mm thick cement and sand plaster to walls both internally and externally to receive paint.	222	SM	250	55,500.00
C	Ditto on blackboard surfaces	18	SM	200	3,600.00
	Painting				
	Prepare and apply three Plastic Silk Emulsion paint to:				
D	Walls Extenally and Internally	222	SM	250	55,500.00
E	Blackboard	18	SM	200	3,600.00
			0 k 2 kU	Code and	
	Total for Finishes carried to summary				385,100.00

ITEM	DESCRIPTION	QNTY	UNIT	RATE	AMOUNT
	SUMMARY.				
1	ELEMENT NO. 01,- Demolisions, walling and ringbeam				356,800.00
2	ELEMENT NO. 02,- Re-roofing				357,500.00
3	ELEMENT NO. 03,- Doors and Windows				158,500.00
4	ELEMENT NO. 03,-Finishes				385,100.00
	Sub-Total -01	- Commander	STATE OF THE PARTY		1,257,900.00
1	PMC Alowances	6.0.38	361/3	The state of the s	20,000.00
2	Project management and supervision expenses	18.	C 5053	THE	30,000.00
3	Tender evaluation and opening	560	OF HILKUES		25,000.00
4	Branding and signpost		128 20 20		20,000.00
	GRAND TOTAL		- CONTRACTOR	Echad.	1,352,900.00

Amount in Words Kenya Shillings	
Name of Tenderer	
Address	
	Date
Name of Witness	
Address	
Si	ignature

8505 230 25